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INTERNATIONAL AND AREA STUDIES
PAPER - 111

Note : This paper contains seventy five (75) objective type questions of two (2) marks each.

All questions are compulsory.

Which American President mentioned
in his farewell address of corporations
influencing governments as “military
industrial complex” ?

(A) Dwight Eisenhower

(B) Harry S. Truman

(C) John F. Kennedy

(D) L.B.Johnson

Match the following geopolitical thinkers
in List-1 with their theories in List-1l on
the basis of the code given below :

List -1 List—11
(Thinkers) (Theories)
a. Friedrich i. Heartland
Retzel
b. Halford ii. Lebensraum
Mackinder
c. Alfred iii. Space and
Mahan location of States
d. Karl iv. Blue water
Haushofer strategy
Codes :
a b c d
(A) i i v
(B) iii i iv i
(C) i v i iii
(D) iv i i i

Assertion (A) : Edward Said observed
countries that emerged from
colonialism, that there is need for a
reconquest of space through a new,
decolonized identity.

Reason (R) : Political control of their
own territories permits the nations
of the former colonial world to be
selective in what they accept or
reject of western culture.

Codes :

(A) Both (A) and (R) are true, but
(R) is not the correct
explanation of (A).

(B) Both (A) and (R) are true, but
(R) is the correct explanation
of (A).

(C) (A)istrue, but (R) is false.

(D) (A) is false, but (R) is true.
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Gateway States play a novel role in :

(A) Acting as entry points for travel.

(B) They have built huge gates at their
ports.

(C) Linking different parts of the world
by facilitating the exchange of
peoples, goods and ideas.

(D) Territories that link two great
powers.

Michael Doyle’s democratic peace is

based on three pillars :

(A) Conflict management, universal
values and economic cooperation.

(B) Peaceful  conflict  resolution,
common values, economic
cooperation.

(C) Conflict resolution, consensus on
values and free trade.

(D) Conflict management, hegemony
on values, and economic
cooperation.

Who said, “The power to hurt is nothing
new in warfare, but modern technology
enhances the importance of war and
threats of war as techniques of influence
of bargaining and intimidation” ?

(A) Bernard Brodie

(B) Michael Hoffmann

(C) Ashley Tellis

(D) Thomas Schelling

The case of humanitarian responsibility in
war  explicitly  justified by the
responsibility to protect doctrine in the
2011 intervention in Libya by NATO Air
Forces was authorized by :

(A)  UN Security Council Resolution 1973.
(B)  UN Security Council Resolution 1993.
(©)  UN Security Council Resolution 1972.
(D)  UN Security Council Resolution 1992.
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Identify the correct code for
Assertion (A) and Reason (R) as
given below :

Assertion (A) : Development benefits
from a sensible mix of state and
market, autonomy and integration.

Reason (R) : Governments are always
able to regulate the economy in an
optimum fashion.

Codes :

(A) Both (A) and (R) are true, but
(R) is not the correct
explanation of (A).

(B) Both (A) and (R) are true, but
(R) is the correct explanation
of (A).

(C) (A) istrue but (R) is false.
(D) (A) is false but (R) is true.

Chronologically arrange the following
books in the ascending order by their
date of publication :

1.  Andrew Linklater-Beyond
Realism and Marxism

2. Joseph Nye-The Paradox of

American power

3. Hans. J. Morganthau-Politics
among Nations :The struggle for
power and peace

4.  James N. Rosenau-The study of
global interdependence

A 3, 4 1, 2

B) 2, 3, 4 1
© 1, 2, 3 4
(D) 4 1, 2, 3
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10.

11.

Identify the correct code for
Assertion (A) and Reason (R) as
given below :

Assertion (A) : If security is to be
defined on an existential basis, then
it is clearly legitimate to understand
economic security in terms of basic
human needs.

Reason (R) : An individual’s survival
and development is clearly
dependent upon the provision of
certain basic needs for sustaining
life, such as adequate food, water,
clothing, shelter, education and
health care, etc.

Codes :
(A) Both (A) and (R) are not correct.

(B) Both (A) and (R) are correct,
and (R) is the correct
explanation of (A).

(C) (A) is correct, but (R) is not
correct.

(D) (A) is not correct,
correct.

but (R) is

Match the following Missiles in
Table- ~ with  their  respective
Countries listed in  Table-II by using
the correct code given below :

Table -1 Table - 11

(Missiles) (Countries)
a. Pershing-11 1. Iraq
b. M-11 2. United States
c. Scud 3. China
d. Brahmos 4. India
Codes :

a b c d

A 1 2 3 4
(B) 2 3 1 4
(C) 3 4 2 1
(D) 4 1 3 2
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12.

13.

14.

15.

Match the following Books/Writings
in Table-1 with their Authors in
Table-1l by using the correct code

given below :
Table -1 Table — 11
(Books/Writings) (Authors)
a. “Cosmopedia: 1. W.J. Martin
Tomorrow’s world
of learning’

b. “The Global 2. D. Bell
Village’

c. ‘The Information 3. P. Rossman

Society’
d. ‘The Coming of 4. M.Mc Luhan

Post-Industrial and B.R.
Society’ Powers
Codes :
a b c d
(A) 3 4 1 2
B) 1 2 3 4
C) 2 3 4 1
(D) 4 3 1 2

Who among the following, is the
author of the book ‘Armament and
History’ ?

(A) Carl Von clauzewitz

(B) J.F.C. Fuller

(C) M. Howard

(D) R.W. Jones

Which one of the following is not
categorized as threat to Non-Traditional
Security ?

(A) Disasters

(B) Terrorism

(C) Environmental and
change

(D) Ethnicity

Climate

Who among the following, visualized
National Security in relative domain by
defining it as ‘relative freedom from
harmful threats” ?

(A) B.Buzan
(B) K. Waltz
(C) J.Mroz

(D) Walter Lipmann
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16.

17.

18.

19.

Which one of the following is not a
component of State-Centric concept of
National Security ?

(A) Territorial integrity

(B) National Sovereignty

(C) Core values

(D) Form of government

Who among the following propounded
the concept of “Structural Violence’ ?
(A) K. Booth (B) J. Galtung
(C) R.F.Kennedy (D) Barry Buzan

Identify the correct code for
Assertion (A) and Reason (R) as
given below :

Assertion (A) : Security in its over-all
perspective  must be viewed
holistically and linkages between
different elements be emphasized.

Reason (R) : For people, States and
global community there will be no
predictable peace without justice,
no justice without security and no
permanent security without peace.

Codes :

(A) Both (A) and (R) are correct,
and (R) is the correct
explanation of (A).

(B) Both (A) and (R) are wrong.

(C) (A) is correct, but (R) is not

correct.
(D) (A) is not correct, but (R) is
correct.
Identify the correct code for
Assertion (A) and Reason (R) as
given below :

Assertion (A) : Shatterbelts and their
boundaries are fluid.

Reason (R) : West Asia remains a
shatterbelt, its  fragmentation
reinforced by the Arab-Israeli
conflict, the wars in lIraq,
Afghanistan, Lebanon and the Horn
of Africa, and the rise of Iran as a
powerful intrusive force.

Codes :

(A) Both (A) and (R) are true, but (R) is

not the correct explanation of (A).

(B) Both (A)and (R)are trueand (R) is

the correct explanation of (A).
(C) (A)istrue, but (R) is false.
(D) (A)isfalse, but (R) istrue.
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20.

21.

22.

23.

Match the following events in List-I
with their years in List-11 with the help
of a given code :

List—1 List— 11
(Events) (YYears)
a. British withdrawal i. 1952
from East of Suez.
b. Mostly the US forces  ii. 1978
under UN umbrella
forced Iraqg to withdraw
from Kuwait.
c. July Revolution in iii. 1990
Egypt
d. Camp David record iv. 1968
Codes :
a b ¢ d
(A) iv i i i
(B) i i v
C) ii i v
(D) i ivo i i

Match the countries mentioned in
List-1 with their legislature mentioned
in List-1l with the help of the code

given below :
List—1 List— 11

a. Bahrain I. Majlis al shura
b. Kuwait ii. Majlis al Muwaab
c. Oman iii. Majlis al Watani
d. Yemen iv. Majlis al Umma
Codes :

a b ¢ d
(A) v i
B) i i iv i
C©) i v i
(D) iv i i [

Who was not a part of Sharm-al-sheikh
summit of 2005 ?

(A) King Abdullah 11

(B) Mahmud Abbas

(C) Hosni Mubarak

(D) Ehud Barak

In which of the following wars, ‘Pre-
emptive Air Strike’ was successfully
launched by Israel ?

(A) Arab-Israel war of 1967.

(B) Arab-Israel war of 1973.

(C) Arab-Israel war of 1947.

(D) Israel-Lebanon war.
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24.

25.

26.

217.

The straits of Dardanelles and
Bosporous passes through which one
of the following country ?

(A) Saudi Arabia (B) Yemen

(C) Turkey (D) Iran

Which one of the following was the
root cause of the Gulf war-11 ?

(A) Verification of the so-called
weapons of Mass Destruction
Programme in Irag under
Saddam Hussain

(B) Liquidation of Saddam Hussain’s
rule in Iraq

(C) Capture of Iraq

(D) Conversion of Iraq in to boiling
cauldron of world politics

Name the prime minister of
Palestinian Authority (PA) who recently
resigned ?

(A) Salam Fayyad

(B) Mahmoud Abbas
(C) Khaled Meshal

(D) Behnam Khodadadi

Match the following List-1 (Country)
with List-11 (Colonial Power) by using
the correct code :

List—1 List— 11
(Country) (Colonial Power)

a. Vietnam i. Dutch Netherlands
b. Philippines ii. France
c. Myanmar iii. England
d. Indonesia iv. Spain
Codes :

a b ¢ d
(A) iv i i [
B) i i iv i
C) i v i i
(D) i i v i
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. MR iii. $ete

iv. T

9(g.\lo_ocrsn

(A) iv i ii i

(B) iii i iv ii

C) i \VART| i

(D) i iii iv ii
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28.

29.

30.

31.

Arrange the following events in a
ascending chronological order by using
the correct code :

. American  Withdrawal  from
Vietnam

II. Vietnam withdrawal from
Cambodia

I1l.  China invasion of Vietnam
IV. Vietnam invasion of Cambodia
Codes :

(A) IV I LT (B) UL LIV,
©C) v, e (D) LI LI
Identify the correct code for

Assertion (A) and Reason (R) as

given below :

Assertion (A) : In 2012 East Asian
summit in Phnom Penh, Cambodia
opposed to adopt a unanimous
resolution on the code of conduct
over South China sea.

Reason (R) China  prompted
Cambodia to prevent a unanimous
resolution to be adopted at the
summit.

Codes :

(A) Both (A) and (R) are true, but

(R) is not the correct explanation

of (A).

Both (A) and (R) are true, but

(R) is the correct explanation

of (A).

(A) is true, but (R) is false.

(A) is false, but (R) is true.

(B)

(©)
(D)

Which are the contending parties in
East China sea territorial claims ?

(A) Japan and Russia

(B) China and Japan

(C) USA and China

(D) USA and North Korea

Which one of the South-East Asian
countries was suspected to go nuclear ?
(A) Vietnam (B) Myanmar
(C) Cambodia (D) Thailand

Paper-I111
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32.

33.

34.

35.

Who was the first elected president of
Singapore ?

(A) S.R. Nathan

(B) Dr. Benjamin

(C) Yusuf Ishok

(D) Ong Teng Cheong

Name of the South Asian Nations
admitted into ASEAN Regional Forum
(ARF) in 2006 and 2007 respectively
were :

(A)
(B)
(©)
(D)

Bangladesh and Sri Lanka
Afghanistan and Maldives
Pakistan and Bangladesh
Nepal and Bhutan

A terrorist group called ‘Gerakan
Mujahideen Pattani Islam’ operates in
(A) Malaysia

(B) Thailand

(C) Indonesia

(D) The Philippines

Identify the correct code for
Assertion (A) and Reason (R) as
given below :

Assertion (A) The recent gas
bonanza brings hopes of wealth to
Mtwara in southern Tanzania.

Reason (R) : The local tribes such as
the Makonde, the Yao and the
Makua are illiterate and lack the
skills for the jobs.

Codes :

(A) Both (A) and (R) are true, but

(R) is not the correct explanation

of (A).

Both (A) and (R) are true, but

(R) is the correct explanation

of (A).

(A) is true, but (R) is false.

(A) is false, but (R) is true.

J-90-13
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28.

29.

30.

31.

fFrafefga oeteli & STaREl Hel
quﬁ'{ﬁa@@@ﬂﬁ
AL T I I

. fouaam & SmReT #1 & |

II. fouaam™ & Fwifear 3 g2 |
[l. = ol faud=Ty o 3Ty |
V. Toua™ & FEifear w Smshv |
F :

(A) IV, ILILT (B) L1 IV, 1
©) 1,1V, 11T (D) 1,1V, Il 1

iy (A) 3R @ (R) & oW wew

FE T TE T N TIF HIFT

afperm (A): 2012 H, AW U= H
= g U R e |
FrEifEaT F ZRIT T AR W G
TG 9 AR e SHgeR Wiedn
! TR S =T fakie fepam & |

% (R) : MR 9o § 99 9w 9
Y& H 7 UG wH % oW
FIITSAT < = SHAET AT |

T

(A) (A) 3R (R) 3HT w&l €, W (R)
(A) F TEl AR TETE |

(B) (A) 3R (R) I+ e &, 3R (R)
(A) o TEl T E |

(C) (A) T &, W (R) Toid ¢ |

(D) (A) ot €, W= (R) W& € |

& 9 AR OH e Sl R

forielt geTehe <91 A € 2

(A) STUA 3R &G

(B) M TR ST

(C) Tgs T 3R 3R A=

(D) Tgo [T N R IW
Hirea

Tifehe gfefor-gel TR <=1 | 9 64
I F AHE ST T B H
3T & 2

(A) o
(C) =it

(B) w&MR

(D) eréete
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32.

33.

34.

35.

R % werm faifed egafa e & 2
(A) TH. 3R, TF

(B) . S

(C) 3FuT s

(D) 3T & =

AT & Ha (TIRUH) | sHST:
2006 3 2007 ¥ 59 gfeqor wferarg <t
I Giwfera TR T, 39 A §

(A) SR T St
(B) STHMIEAN 3T AeTga
(C) wfeream X Seeer
(D) U 3R e

RGBT A R e | Bt o M 2
SR THE STt T & ;

(A) TeAtTET

(B) dreive

(C) sveHRm

(D) THfcTareTd

=i etfirehem (A) 3R % (R) &

ToTT WEl e T T HIT ;

HAHHUA (A) : IRI0T T 3 FZART
H 9 @ g 9 39

& T gF-SIeTd i ST
S |
& (R) : EE Sl T
qHUE, A AN
e TR € iR
TR & T 370 H1g
HITA TEl & |
T
(A) (A) 3R (R) 3H Wl &, W (R)
(A) i TE AT T E |
(B) (A) 3R (R) I Wl €, 3R (R)
(A) T T& AR E |

(C) (A) T, W= (R) T & |
(D) (A) Tora €, W] (R) Wel ¢ |
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36.

37.

38.

Match the countries mentioned in
List-1 ~ with their previous names
mentioned in List-1l by using the code

given below :
List -1 List—11
(Country) (Previous Name)
a. Namibia i. Basutoland
b. Zimbabwe ii. Bechunaland
c. Botswana iii. South-West Africa
d. Lesotho iv. Southern Rhodesia
Codes :
a b c d
(A) diioivo i i
(B) iv il i i
(C) ii i i v
(D) i v i

Match the leaders mentioned in List-I
with their countries mentioned in
List-11 with the help of code given
below :

List—1 List— 11
(Leaders) (Countries)

a. Milton i. Ethiopia
abote

b. Kenneth ii. Zambia
Kauda

c. Robert iii. Zimbabwe
Mugabe

d. Haile iv. Uganda
Selassie

Codes :

a b ¢ d

(A) iv i i i

(B) i iv i il

(O3 I T T T | I \Y

(D) i iv i

Arrange the following events in

ascending chronological order with the
help of the given code :

l. UDI declaration of Rhodesia

Il.  Formation of the OAU

I11.  Berlin conference that partitioned

Africa
IV. Formation of African Union
A HLI L (B LHLIv I
C) I Luv (D) IV I LTI

Paper-111 12

39.

40.

41.

42.

Match the following events given in
List-1 with the year of happening in
List-11 with the help of code given
below :

List— 1| List— 11
(Events) (Year)
a. Apartheid introduced 1. 1961
in South Africa
b. Namibia’s ii. 1990
independence
c. Sharpeville Massacre iii. 1960
d. South Africa became  iv. 1948
Republic
Codes :
a b ¢ d
(A i v 0 il
(B) i i i v
(C) v i i i
D) i i v

Who shared Noble Peace prize along
with Nelson Mandela ?

(A) Peter Botha

(B) F.W. de Klerk

(C) Bishap Desmond Tutu
(D) Buthleji

Who is the president of Algeria ?
(A) Muhammad Mediene

(B) Abdelaziz Belkhadem

(C) Abdelaziz Bouteflika

(D) Taufiqg

Who is the author of the book ‘Things
Fall Apart’ ?
(A) Wole Soyinka
(B) J.M. Coetzee
(C) Chinua Achebe
(D) Ben Okri
J-90-13



36. gl ® Al ¥ gAfd BT X

37.

38.

TS B W el ST BT T4 T :
= - | =t - 1
(3w (TEet T =)

a. AHierr i, Sgdicts

b. frare i, SATeTE

c. SicqemT iii. gfeToT-afYer

STHIHT
d. feraren iv. SfeToT Treferr
T

a b c d
(A) Qi v i
B) iv i i i
€ i i i v
D) i i iv i
gl & G-l ¥ gafed ST i
TS FZ W el ST I TG T
= - | = - 1
() (37
faoeT e 0. st
H IS i, ST
T g il fas
et iv. e
ot

6T

(=N

o oo

a b c d
(A v i i i
B) i v i il
©) i @i i v
() iii i v i
frfetiaa seetl & AWEl Sethd |
@Y 3R UET He § TE IW H T
HifT
I eTomr @ FESteme wor
II. 3T, & e
[1l.  3TSRIShT T TSI X aTett afer
T
I\V. SThIsh! U8 T TS
T
(A L1, 1,1V
B) 11,1V, 1
(C) 1L 11,1V
(D) IV, I, 1, 1
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39.

40.

41.

42.

3% Hied @4 % aut % @ gAHferd
HINT 3RY F=IThd e | TEl 3T Al
T I
=it - | =it - 1
(sremTY) (@)

a. TRIUT TR H ST i. 1961
A T FA

b. AT St AT ii. 1990

C. VUfaeT & R-TER iii. 1960

d. sfol  emReET T iv. 1948
T BT

ET

A i ivo i il
|) i i i v
©) iv i i
©) i i v i

T HUSEN o W A M R
&% 3T forstem &

(A) diex S

(B) UF. T, ©I. Hoh
(C) fovm SuHe 2T
(D) geretsit

AT % LU i & ?
(A) Tems 9eH

(B) TR 3TSIST SoTaTeH

(C) 1= 3TSHIST S ftreTeT

(D) dRi®

‘e et TS’ YR o i@eh i & 2
(A) @t HEH
(B) Sium. FERS
(C) forgem s
(D) = 3T
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43.

44,

45.

46.

47.

Match the countries in List-1 with the
years in List-Il which came under
Soviet invasion by using the code
given below :
List— 1 List— 11
(Countries) (Year of
Invasion)
a. Czechoslovakia i. 1979
b. Hungary ii. 1968
c. Afghanistan iii. 1956
d. Poland iv. 1939
Codes :
a b ¢ d
(A) Qi dii v
B) i iv i i
(C) i i i v
(D) iv i i i

The last Constitution of the USSR was
adopted in the year
(A) 1975
(C) 1979

(B) 1977
(D) 1981

Who adopted the idea of ‘New Foreign
Policy’ in Russia in 1992 ?

(A) Evgeny Primakov

(B) Gennady Burbulis

(C) Andrei Kozyrev

(D) Alexandra Bessmertnykh

Identify the countries with ‘colour

revolutions’ in central Asia :

(A) Aczerbaijan,
Uzbekistan

(B) Georgia, Ukraine, Kirgyzstan

(C) Turkmenistan, Belorussia,
Tajikistan

(D) Armenia, Moldova, Georgia

Kazakstan,

In 1994, who made the statement that
‘now our defence scholars who
previously worked for the interests of
their own country, are working for the
NATO’ ?

(A) M. Gorbachev(B) V. Putin

(C) Y.Primakov (D) B. Yeltsin

Paper-I111

48.

49.

50.

Given below are two statements, one
labelled as Assertion (A) and the
other labelled as Reason (R).
Identify the correct code :

Assertion (A) : The economic chaos
and the pursuit of newly introduced
free market economy led to the
emergence of various types of
mafias during Gorbachev’s period
of perestroika.

Reason (R) : The mafias ran entire
network of the economy as they
were receiving money from private
business across the length and
breadth of the country.

Codes :

(A) Both (A) and (R) are true, but
(R) is not the correct explanation
of (A).

(B) Both (A) and (R) are true, and
(R) is the correct explanation
of (A).

(C) (A)istrue, but (R) is false.
(D) (A)is false, but (R) is true.

Who promoted limitations of strategic
arms during the Soviet period ?

(A) Gromyko (B) Kalinin
(C) Kosygin (D) Rogov

Who termed the Russian foreign policy
‘catastrophic’ ?

(A) Andranik Migranyan
(B) Andrei Kozyrev

(C) Sergei Rogov

(D) Yevgeni Bazhanov
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43.

44,

45.

46.

47.

Tt | H Sfearad 31 e 1 52
qut & W T GfIAT B g,
goferd FifNT R a8 ™ $e 9 &
IR T T HIT
= - | = - 1

(3w (ST T W)
a. ddAEmER Q. 1979
b. &R ii. 1968
C. STHMHEMN iii. 1956
d. deivs iv. 1939
T

a b c d
(A) i i iv
B) i v i i
(C) iii i i iv
(D) iv i i i

JUHUG.IR, & <9 o= 59 ad
STOTAT T
(A) 1975
(C) 1979

&g H fohae 7 faqer ifd &1 1992 & wat
AL fopa ?

(A) T TR

(B) el e

(C) 3=t ISR

(D) TerEIg AEHEATE

(B) 1977
(D) 1981

e TRET % 39 I B GEdH HifeT
(A)  3TSRESTH, FHEREEH, ITe R
(B) STfstar, gobd, fo e

(C) THHMETH, SATEEI, ATehe

(D) i, Trergra, St

1994 ¥ I§ g feed feam o
“TAR T fagH ST 39 qd 310 I &
fed H 1 Fd & 37T T IR eeAieH
Uy A U FF T E 172
(A) ©g MeEa  (B) @ gfdw
(C) g direpa (D) ot Jeare
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48. 3 goed €, SH 9 U e (A)
T T (R) & &0 H Fafeta &
Afipem (A) : TMaTeE gRT uidaed
WEEH & IR MIF  3TH-
TG SR T ISR S 3N
T & A9 YA o A A
T U o AR 1 SHRT |

% (R) : = wifparet 3 et
ZAT % W HSIA I HEerd
T i 3¢ 93U &% & FH o
it st 9 o et o |

B

(A) (A) &R (R) SHT W@l € W] (R)
(A) = TE AT TEE |

(B) (A) 3R (R) I W &, 3R (R)
(A) T T& AR E |

(C) (A) Wl & == (R) T € |

(D) (A) Tora €, W] (R) Wel ¢ |

49. o Gifoad &7 & IRE FFAIaH

G UREEA’ <l Uieqtted o6 ?
(A) TR

(B) it

(C) wifafm

(D) Ma

50. TP ®E W foewr A &

“ToriforshTeR” oheT &t ?
(A) UGl AEAFET
(B) UGS SIS

(C) JTTE A
(D) I S
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51.

52.

53.

Match the countries in List-l with
‘colour revolutions’ in List-11 by using
the code given below :

List -1 List - 11

(Countries) (Colour

Revolutions)

a. Kyrgyzstan i. Orange
b. Ukraine ii. Rose
c. Georgia iii. Tulip
d. Turkmenistan  iv. None
Codes :

a b ¢ d
(A) i i i v
B) iv i i il
(C) i i 0 v
(D) i i i v

Which was the first State in South Asia
to liberalize its economy ?

(A) India

(B) Bangladesh
(C) SriLanka
(D) Bhutan

When did the massacre in the royal
palace of Nepal kill King Birendra,
Queen Aiswarya and seven other
members of the royal family ?

(A) 1 July 2001
(B) 1 June 2001
(C) 1 June 2000
(D) 10 June 2001
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54,

95.

Identify the correct code for

Assertion (A) and Reason (R) as

given below :

Assertion (A) : In the post cold war
follow-up  and  contemporary
situations, India’s relations with
Pakistan are likely to remain highly
conflictual over Kashmir, nuclear
weapons, cross-border terrorism
and the over-all military balance.

Reason (R) : Pakistan is still carrying
the reactive historical legacy of the
1947 partition and geo-political
burdens of animosity. It has failed
to appreciate India’s growing
power and performance on account
of its nexus with China, North
Korea and some Muslim countries.
Simultaneously, Pakistan has also
failed to appreciate the value of
cooperative approaches.

Codes :
(A) Both (A) and (R) are correct,
and (R) is the correct

explanation of (A).
(B) Both (A) and (R) are not

correct.

(C) (A) is correct, but (R) is not
correct.

(D) (A) is not correct, but (R) is
correct.

The US-India proximity in the

multipolar world in general and south

Asian  affairs in  particular s

significant, because of :

(A) china’s rise as a counter-weight
to the USA and the US-India
common interests in containing
china.

(B) the US recognition of India’s
growing power as supportive to
US interests in the Asia-Pacific
region.

(C) cooling of the US-Pakistan
relations and little role of
Pakistan in the Global war on
Terror (GWQOT).

(D) All of the above.
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51. gl ® g1l ¥ gafad ST ek

iThd e | Tl I 1 T HIT ;
= - | =t - 1
(&) (¥ shtf)

a. T i, Gt

b. T TSI

c. STfomm iii. =gfera

d. qHAFTEE iv. % T &l

B!
a b C d

(A i i i v

B) iv i Qi i

) i i i v

(D) i i i v

52. gfeqor wRern | SToAT 3Tef-sae w 3|/K
A ST TEEAT T i T 2
(A) 9Rd
(B) dFoAR¥
(C) sitcrHt
(D)

53. TUT W IE WA H HERST AR,
TERH! Ugadl 3R TSI aRaR & ard
3T TET TR e gl ?

(A) 1 SE 2001
(B) 1 SF 2001
(C) 1S 2000
(D) 10 S 2001
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o4,

55.

TR 3tfyeReA (A) Td % (R) & fow

el < T T T :

AfqHT (A) . SWINT I FA &F
ST SR T feafet |
IRA & UMhEd d Ty HIR,
T R, 9muR 9
JMTHATT 3R FoA T Tt hl
AR ST FEIY S @A B
TEAET |

& (R) : TifREa et ot 1947
% oyt 1 dfderiaes formad
arafskar 3 -SHIS ST
AT & W § | T uRA B
Jedl g Ve 3T feRarelierar ht
W HINAT 3R F& et 390 4§
giewme € | T@H 9T 9
qiehea=  Weanmedsh STl %
Hewd ol ot el TS T @& |

T

(A) (A) 3R (R) 3T W&l €, 31X (R)
(A) i TE A E |

(B) (A) 3R (R) 3T el F&I & |

(C) (A) w8, W= (R) T & |

(D) (A) Tora €, W] (R) Wel ¢ |

STARHI-ARA I THehedl ag-gaig fava o

AT AR SEULOREE e |

TR Hewaqul & itk

(A) smfRw & fovg SaE-vfe &
w7 H 99 1 37T IR AN H
Thd H MR 3R 9RT &
IS o |

(B) 3R gRT WRA Y Sl VIR B
ol meTT & H eTRent fedt
foTT WeTarsh HIFT gU A=t <7 |

(C) SMREIUNMFEAN & T &
HRT 3R SAhAR & a6g dfvas
Ig (@) H UifREE @l 3T

e |
(D) S T T |
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56.

S7.

Identify the correct code for
Assertion (A) and Reason (R) as
given below :

Assertion (A) : China has actively
involved itself in South Asian
politics and presumably  will
continue to do so, being detrimental
to India’s interests.

Reason (R) As a consequence,
among others, India will strive to
emerge, not only as an independent
power centre in the multi-polar
world, but as a counter-weight to
Chinese power and influence.

Codes :

(A) Both (A) and (R) are not correct.
(B) Both (A) and (R) are correct,

and (R) is the correct

explanation of (A).
(C) (A)is correct, (R) is not correct.
(D) (A)is not correct, (R) is correct.
Match List-l (Places in South Asia)
with  List-1l (the Countries) on the
basis of code given below :

List— 1 List—11
(Places) (Countries)

a. Taktsang i. Pakistan
b. Taxila ii. Bangladesh
c. Lumbini iii. Bhutan
d. Somapur iv. Nepal
Codes :

a b ¢ d
(A) iv i i [
(B) i i v
C©) i v i i
(D) i i v
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58.

59.

60.

61.

62.

Name the present Vice-President of
Maldives :

(A)
(B)
(©)
(D)

Mohammed Waheed Hassan
Mohammed Waheed Deen
Abdulla Shahid

Ahmed Faiz

Which one of the following militant
groups plotted the military coup in
1988 in Maldives ?

(A) EPRLF
(C) PLOTE

(B) EROS
(D) LTTE

Over the years, which one of the
following is identified as India’s
biggest internal security threat ?

(A) Naxalism

(B) Communal riots
(C) Human trafficking
(D) Hlicit drug trade

Who coined the term “stratarchies” to
describe the way the American
Democratic and Republican parties are
organized ?

(A) David R. Mayhew
(B) Howard Rosenthal
€
(D)

Harold Lasswell

Samuel Eldersveld

When was it established both by law
and fact that the United States is “one
nation, indivisible” and not a
federation of sovereign states ?

(A) 1865 (B) 1864
(C) 1945 (D) 1861
J-90-13



56.

S7.

aAfepe (A) 3R @ (R) & forg i w@é
P W el ST B T BN |

afirpe (A) : 99 3 WA 3T R
g ®7 § AT RET @
TG | Ao e forar & X
TE SFHMA: R UET &Y
W, 5 o wRa % fedi & ufasper
Gl

& (R) : WhH  HoEEd I
HEAT & T YR T hadd &=
TA-HE & 9§ Tg-gdig fova |
SRA BN BN HEW, AT o=
i v 2R 99T & faeg SamEl-
VTR S ST IT BT |

Fe:

(A) (A) 3T (R) 3T T8t &I € |

(B) (A) 3R (R) Il @&t & 3iX (R)
(A) T T& AR E |

C) (A) FE (R) W FIE |
(D) (A) I 2, (R) WI& |

-1 H =T TR 7 ferfd w SR
-1l § e MU Sen o gafed sifsw
3R ST P § el A I T HIT

= - | =t - 1
(wm) (™)
MR IETSIE]
i, ST

iii. g
VA LI)

. O gnT

jij!

(A iv i i
B) i i Qi v
©) i v Qi
O) iii i v i
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58.

59.

60.

61.

62.

AKE o IHH 3U-U(d T T 1
g2

(A) HEmT dREIE &9

(B) HIEWR ARIE §H

(C) oTsgoet ies

(D) 3HT U

el H 1988 H A9 a&d Uoed |
Tt § 9 69 Syadt @ge 3 O
foram o 2

(A) T W R, TA TF,

(B) ¢ ¥R . Uh.

(C) Tt uer om &3

(D) w2 T

forra ot o, Fefafed 5 9 g TrRa
% ToIT Ta® Sg1 TaIRey G 1 Gl
AT ST T8 2

(A) TR

(B) WRTT

(C) H=e TRl

(D) 319 HIGSH §AT AR

o o0 o oo
he 3THRSI SHIshICh 3T RUlscAch

TAl & G H A wH % fau
‘werfhd (Stratarchies)’ ¥1&% &1 WM
fepam 2

(A) <fag a1 #F7L
(B) @GS IHAA
(C) wive AT
(D) H=I3Tet Tesdeee

g 27 faty wd 9 & w9 § g au

iy gem f emieh ‘U e

3TEUE & 3T O] 4T T T el ¢ 2

(A) 1865 (B) 1864

(C) 1945 (D) 1861
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63.

64.

65.

66.

In 1900 the US House of
Representatives, excluded a member
from taking his seat on the charge that
he was a polygamist. Identify his name
from the following :

(A) Henry Clay

(B) Bringham Robert
(C) Frank L. Smith
(D) William S. Vare

Which one of the following
constitutional amendments changed the
method of the election of the US senate
from indirect to direct to combat the
menacing tendency of electoral
corruption in 1913 ?

(A) 17th Constitutional Amendment.
(B) 13th Constitutional Amendment.
(C) 16th Constitutional Amendment.
(D) 18th Constitutional Amendment.

Who, among the following, called
America as a true cultural “patchwork
quilt” ?

(A) Martin Luther King
(B) Walter Lippman
(C) Saul Bellow

(D) Jesse Jackson

Name the US congressman who was
sent to jail in 2005 for accepting bribes
in exchange for influencing defence
contracts :

(A) Jack Abramoff

(B) H. Ross Perot

(C) Randall Cunningham
(D) Tom Delay
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67.

68.

Identify the correct code for
Assertion (A) and Reason (R) as
given below :

Assertion (A) The level of mass and
elite  partisan polarization in
America is now quite high, as it is
in most European nations.

Reason (R) : The relatively poor are
increasingly democratic and the
rich republican.

Codes :

(A) Both (A) and (R) are true, but
(R) is not the correct explanation
of (A).

(B) Both (A) and (R) are true, but
(R) is the correct explanation of
(A).

(C) (A)istrue, but (R) is false.

(D) (A)is false, but (R) is true.

Match List-1 (the US Presidents) with
List-11 of (their respective secretary of
State) from the code given below :

List-1 List— 11
(Presidents) (Secretary of State)
a. Richard I. Condelessa Rice
Nixon

b. George Bush ii. Hilary Clinton

c. Dwight iii. Henry Kissinger
Eisenhower

d. Barrack iv. John Foster Dulles
Obama

Codes :

a b ¢ d

(A dqii1 v i

B) i i 0 v

QC i ivi il

(D) iv i i i
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63.

64.

65.

66.

ag 1900 H SN BSE 3%
siefeaq 7 U 9= & 9E7 H oA
T T, Tk 3k foes Jg-Ueiied &l
IRY o1 | Fihd § ¥ 3@ AW H
RECIIE Lo

(A) &R A

(B) fonmen e

(C) e wer. faqer

(D) faferaw . o=”

it Gaenfer deneAr § 9 fohad
FRT fatem | YR @i A ugha s
T % foT mRent e & Harem &
3T | Ueae ares # aRafaa T
T 2

(A) 1797 GoruTe Feme
(B) 1397 Toru-ish |
(C) 1697 Garun-is |
(D) 183 Holenfeh Heme

it & @ fepemr 3mftepT 1 ardferss
GiEpiaeh “Ias o TS’ ol T &F 2
(A) T TR T

(B) dreeX feroma=

(C) Hfe Aot

(D) ST ST

3TERIH! U & 3T TG 1 A fargw
5 2005 7 T gl I wetad wA &
TIT 5 & OR Siet WST TR

(A) Sieh SEHE
(B) TH. IR
(C) Y=ot H1d
(D) 2@ St
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67.

68.

e atfiyere (A) Td % (R) & forw
TE e H TI7 HIWT ;

Afpe (A) : SERHT § T SH
g faRme @ H
favigeRt  gareor @
TR 3 §gd g T
EIRE N L Pkl
I AL F 7 |
qoTeTs ® H et
T =gd gT ke 3T
fent | Rafeete € |

& (R) :

C TN

(A) (A) &R (R) ST wel €, W] (R)
(A) = TE AT TE E |

(B) (A) 3R (R) I Wl & 3R (R)
(A) o TE AT E |

(C) (A) T &, W (R) Tod ¢ |

(D) (A) 7o & W= (R) W& ¢ |

gl o Sfeotaa (smRen gafaarn)
3T gEll-1l o aford (3 Tshedt 3

WH) % Gt GAfeTd HINT 3R T8 FHe
T e 3T T I HINT ;
=t - | = - 1
(Yrgafer) (Fshedl ATE )
a. a0 wiefaw Tg
b. ST T ii. oot foretet
c. TaEe iii. TR fRRR
SIEREIEL
d. S S jv. S B Seord
T

(=N

a b c d

(A) il i iv ii

(B) ii i [ 1\

C) i iv ii iii

(D) iv ii i i
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69.

70.

71.

72.

In 2013, Presidential election was held
in Venezuela on one of the following
dates :

(A)  8th April, 2013

(B) 10th April, 2013

(C) 14th April, 2013

(D) 16th April, 2013

Which one of the following countries
of Latin America is known for its
vision of ‘ecological society’ in the
world ?

(A) Brazil

(B) Cuba

(C) Dominican Republic

(D) Haiti

Which one of the following Latin
American countries suffered recurrent
economic crises between 70s and 90s ?
(A) Argentina (B) Brazil
(C) Columbia (D) Mexico

Given below are two statements, one
labelled as Assertion (A) and the
other labelled as Reason (R). Identify
the correct code for them :

Assertion (A) : Presently Brazilians
are worried about the impact of
drugs and the criminal drug trade
on public security.

Reason (R) Brazil remains the
second largest consumer of illegal
drugs as well as target of violent
crimes.

Codes :

(A) Both (A) and (R) are true, and
(R) is the correct explanation.

Both (A) and (R) are true, but
(R) is not the correct
explanation.

(A) is true, but (R) is false.

(A) is false, but (R) is true.

(B)

(©)
(D)

73.

74.

75.

Given below are two statements, one

labelled as Assertion (A) and the

other labelled as Reason (R). Identify
the correct code for them :

Assertion (A) Haiti is highly
polarized as politics has
complicated the efforts to address
the country’s complex and deeply
rooted development challenges.

Reason (R) : In 1986, Jean Claude
Duvalier was ousted in the hope of
establishing a more stable and
democratic form of governance.

Codes :

(A) (A) is true, but (R) is not the

correct explanation.

(B) Both (A) and (R) are true, and

(R) is the correct explanation.

(C) (A)is false, but (R) is true.

(D) (A)istrue, but (R) is false.

Match the names of the Presidents of

Latin American States in the List-I

with the countries in the List-1l by

using the code given below :

List—1 List—11

(Presidents) (Country)
a. Evo Morales i. Argentina
b. Juan Manual Santos ii. Bolivia
c. Jose Mujica iii. Columbia
d. Kristina Fernandez  iv.Uruguay

de Kirchner

Codes :

a b ¢ d
(A) i i v i
(B) i i v
C) i i ivooiv
(D) iv i i

Which one of the following countries
in Latin America is termed as ‘racial
melting pot’, where religion and ethnic
heritage take a back seat and making it

recognized as the ‘heart of the
Universe’ ?

(A) Ecuador (B) Panama
(C) Mexico (D) CostaRica
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73. 9 T FA E UH N AEE (A) AR

74.

75.

69. 2013 H SFS[UAT H U H fETE
iR Tafert 5 | e gor o1 ?
(A) 8 3w, 2013
(B) 10 3w, 2013
(C) 14 3w, 2013
(D) 16 3ma, 2013
70. wifeT MR &1 SiF A1 I AR T H
‘ORI TS FI O SN
o wieg & 2
(A) TSieT
(B) =g
(C) iy ToTd=
(D) i
71. 1970 3i¥ 1990 & WMt H, =1 wifes
3R T H | B IREAR STIh Tehe
YRS ?
(A) 3T
(B) @i
(C) et
(D) wfeRTeRt
72. A9 Y wH RF ST @ € SRE 9 ouem
e (A) 3R 5 @ (R) & | 3%
ToTT W&l e 1 T i
Afimem (A) : SfoEd g 3R
TH F AWHE =FUR o
ARGRET W TS a U9 &
FRoT Fafad & |
& (R) : STSTieT foreer T ST SISt
A TH B UM & 3R
TeaTeeh TR T ey fog & |
FT
(A) (A) 3R (R) 3T W& € 3R (R)
TE A E |
(B) (A) 3R (R) I Wl & W=
(R) W&l = &I ¥ |
(C) (A) W g, == (R) o € |
(D) (A) 7ot &, W= (R) W& € |
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Wﬁa@(R)wwafmaﬁ

A T TIT HIT |

WY (A) : &l TFH 3 ygipd 90
T il TG F I Bl A
R fow™ & e Al w5
AT 3 o YA Sl SoAeT f&ar

T

& (R) : 1986 T SH S

I TW MM H g T

o 5 o FER Ud ST
I 10 & U |

F

(A) (A) W &, WS (R) Tl =awen
T E

|
(B) (A) 3T (R) 3T Wl € 3 (R)
T |
(C) (A) 7o ¢, W (R) Wl ¢ |
(D) (A) @& & == (R) T ¢ |

gA-| H Sfeeifad wifes smiept Iegafaar
w Al # At e o W gHed

FIT 3R 53 T P2 T T SR H I
FHIT |
= - | = - 1
(Frezufer) (&
a. A ARed i, STt
b. S[AM HIFA i, SifctieEn
C. ST it iii. SreTfraT
d. TFEAT ®ARSE v, SEa
g T
HE :
a b C d
A di i v i
®) i i Qi v
©) i i v v
O) iv i i i

dAfeq et & fifea 290 9 9@ =%
FHF oW § Y e frEer o
T ST €, STer &9 SR JoTe o
I FH Ted a1 T, Y g9 fove
% B3’ % I H TgdH 99 T4 2

(A) THETER (B) =TT

(C) wirehl (D) wR=INEH
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